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Note: This question paper coutains t\\'o parts A and Il.
Part A is compulsorv rvhich carries 25 rnarks. Ansrver all qLrestions in Part A. Parl B
consists of 5 Units. Ansu,er anv one fr-rllquestion frorn each irnit. Each question carries
l0 marks and mal,have a, b, c as sub questiorrs.

PART - A

l.a) Define structural testing.
b) What are remedies for test bugs? Explain.
c) Give an example of forgiving Data Floi.v anomall,s!a!e graph.
d) i-xplain ahout path selectiorr irr lrarr'actiorr-lloii testing.
c ) \\'hat is dornain testing?
f) Where do don,air-rs come liorr?
g) Write absorption rule.
h) What goes wrong with predicates?
i) What is the problern rvith pictorial graphs?
j) Explain state-transition table *,ith example,

PART - B

2.a) Explain link nrarkers and link counters with exarnple.
b) Discuss about integration, interface and system bugs.

OR
3.a) What,are cases for single loop? Explairr wifh exarnples.

b)Distinguishbetr,teenteStinganddebugging.

4.a) Why isn't static analysis enough? Why is testing required? Could not a vastly expanded

language processor detect anomalies?
b) Explain about sensitization in transaction-flow testing. I5 + i'lt- - J
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5.a)
b)

OR
Describe application, tools and effectiveness of data-flow testing.
Discuss about transact,ion-flor.r' struaturc. ' ,

6.a) Explain about testing two-dimensional domains,
b) Discuss about closer compatibility and span compatibility.

OR
7.a) What are ugly dornains? How testers and prograrnnrers treat them.

b) Explain about linearizing and coordinate transfbrmations. [5+5]
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3.rr) 1.r1t1:rin lt)n|) tenl stc.p ilt a rc(lLlcti()n proCe.ltlrc * ith eranlplc.

i.r l)iscuss aboLtt ciccision tabies ilrrl 5trlrcillre \\ ith e\al]llllc. li'51
OR

9 a) Ilesct:ibe,lorver path coLtrlt lrt'iLhttletic \vith exatnple.

bt \\'rite n"rotivational er,ervietv ol logic.basecl testing. [5 :5]

l0.a) What is equivalent state? Explain in detail.

fri Explain about node-reductiotr algorithm. [5' 5]

OR
I La) Give an erarnple to illustrate hou,to convert a specification into a stale graph rnd hotv

corttrad ict ions catt cotne abottl.

b) Discuss about rvin-runnel testing tool. [5+51
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